S AZ3045) i = X 15
i RCET A4 - )l HERGE
S (TR wass @M m oW g [P ACEERTEECEA RS
| i Fo SR BB PN D F2 P L 0k ’ fﬁ3§%7é i ’ |
ERLEASR D Hitl 40 | L.1|# 6.9+ 9.8 — —
=L E=ei — | BRMR [E YA e — —
iR et R BT PN 0D ot P i Xk —t 4o 84— —
_EECLAS 0> itk 40 | L1|Pe7h 98 | -
FEET Eeein — | B — — — -
e [ASERCIA
1 FRETRBUME o B A Hi X —h 4.1l 6.9 | —
2 LRELU o i 40 | L1|d 74 15 | —
EELIA O Hi
1 FREEIRG R o B T —l 3.6 7.0 —| —
2 _EFLSh oM 40 L2¢64E 100 I I
| AR - FRARET [ 8 % R URIER W 40 | L2[#t 6. 18 9.8 —| —
RERLAA D Hitke
1 BREERE M 0 B O —W 4.8%0 8.4  — -
2 EERLA o 40 | L1780 111 - -
ST B2 — | B# - - A -
I A% Eeei — | B |AdEEEE - —
BET Bt — | B& = s s
Z| LR FRTTEHE Lo FRHIRO B b T D HEE — | B /At HEE H i - -
ERCEASR D i
1 WRGHE I - )11 - FERE O R OTEIRY
DTEH
(1) e B Hiet P oD B FH ot pCIi —fil 5 Th 9.8 —| —
(2) RISt MR — | B P oo.oF 16— -
2 BJEEIL - W) - AERRORM
(1) JREER T RN o = i b it 4.8%0 9.3 - —
(2)  EFELASOHIIR 40 | L1|h 7.8 13— -
R RT £t — | B -1 - - -




R30Sy i = X °H
HXATE 4 - ¥ AEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| 1B B\ O & R FE FEEMR O A
1 REBW
(1) B ZERIE Hidel Py o S b IR —ol 4. 80 8.5  —
(2)  EEmeish oK 40 | 1L1|P 8T 15—
2 _EERLISh oM
(1) FEEIRFL I 0 2 H H ik ol 4. 280 7.6 —
(2 kRSO HIR 40 | L2 7.7 1 —
IO & R F ERIER O PE
1 REEIRBE G o B A il O —Ff 4.2 7.5 —
2 LSO K 0 | L1 e o —
K 2 S L b ok PN 0 PR Y L il 430 6.3 —
EFELIA 0 40 | L1|F 6.9 9. 0% 2. O 2.9
PN ik S B A P D f2 B XS —ti 4. 3% 6.3 —| —
RFRLLA o> Hitkek 40 | L1 |7 6.9 9. 0% 2.0l 2.0
ot R S B 3 PN O R Y R —fol 4. 290 7.6 —| —
ERELAS 0 Hit 40 | L2f 7.2 98 - -
R B TR LI PN oD 2 T X —l 4. 200 6.3  —| @ —
EFERIA D HirE 40 | L1|H 6.9 9. ol 2. Ot 2.
PN it SR BT PN 0D J L 35 —t 4. 30 6.3 —|  —
EFRLIA O HitE 40 | L 1|H 6.9 9.0k 2. Ot 2.0
K& RGER
1 REEHREAIEL N 0 2 A DO —t 4.7l 7.9 - —
2 ERCEA s 40 | L2 sgd 12 — -
LELEASR > iR
1 ERRER B PN o 2 R il s 4200 7.8 —
2 LERLS o 40 | L2 724 9.8 — -
FNE VLB
1 RN o B A O —%5@&93 —




SAZ304 53 s ® K 3E
HXATE 4 - ¥ AEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
'S PN 2 BREELSOHUS 40 | L2ff oo 15 | —
EFELIA D Mtk
1 PSRN o 2 A Hh K —t 4. 80 8.9 | —
2 FELS o 40 | L1 g 19 | —
Kk o SR LI PR oD f P B XU —hl 4. 380 6.3 —| —
EELIA 0 i 40 | 11| 6.9 9. 0fl 2. O 2.9
PN i — | B -1 - - -
I HE T EHEHE EORBRMIROED BTV A — | B FeaEreE | -
LFRLLA o> it
1 BREE I - I - AR O R ORI
DT
(1) A= BRI o 2 F i sk —p#fi 5. TR 11 — —
(2)  _RECLASh DHLER — | &R oo 18 | —
2 WREF - 8 - FERORA
(1) oS4 L i dale Py oD J2 ) DI —t s 11l | —
(2)  _RFELASh D HEL 40 | LifRo g 15 | —
oy BOESFE Fr S iR B N D f L Ok il 4. 46 8.00 | —
LIS O Hh 40 | L1|Foreff 19 | —
HAR P S 1 B L 58 PR 0D J Pt DX 4.4l 8.8 | —
LIS 0 s 40 | L1l onTE o1 | —
JnEsHT Eaair — | BSHR |V b b - -
&R B S T B H IR PN oD 2 P K3 —fl 4.5l 8.4 —| —
EFELIA 0 40 | L1|F oreF o1 | —
AR EE 8 HihRw
1 REIRE e o B2 T Ik —l 4960 9.8 —| —
2 ERLEA O 40 | L2 9.0 1§ — -
BB - 3R
1 REERE N O 2 K I —l 4.4t 8.2 —| —
2 RS OHR 40 | L2 7.1 100 — —




S AZ3045) i = X 1H
i RCET A4 - )l HERGE
R I B B B S B =y i TSt v
% e = * ® = # ®
Dy AR FCRAS o Hir e
1 BEEREUIEL P o B A X —l 3.8 7.2 —| —
2 LEELIS o 40 | L1|F 6.2 9.0 — —
ENR s i — | iR A EE R | —
I o fith e dnle LAS
1 [EE8 BBV
(1) R B sk Py o0 F2 o I W 5.8 9.8 | —
(2) BRSO HuE 50 | L2|P o.gh 18 | —
2 LRI o Hitk
(1) R RS i o B2 A Hh X M 5.5 8.9 | —
(20 EREstoHR 50 | L1[# 9.5 158 | —
& REE L - W - BERBVROERROBR — | B (P O0F 17 — -
EiE 8 Hiwv
1 IR MR o B2 T i Ik —ﬁSJFQﬁ - -
2 ERLEA O 40 | L2 o4 15 — -
ERELASR D iR
1 RIER
(1) JREEIRELIER P o 2 AT Hi K —p#0 5. 3% 9.6/ — —
(2)  EFELSoHuR 40 | L1 oo 15— —
2 LA o g
(1) RAEHRBHMERN O 2 A Hi K, —#E 4. 8% 8.9 — —
(20 ERELS oI 40 | L1|f 6.9 9.8 — —
CRGLIY Eoeid - | B# - - - -
FISRET RiEk = | B — — — -
| % [ASERCIA
1 RS o = A KO —# 5.0l 8.5 — —
2 LFELh o g 40 | L2 7o o1 | —

EFRLASR o iU




S AZ3045) i = X 5E
i RCET A4 - )l HERGE
e R ks @ A o w4 [P PEEERTIBEITOGES
| % 1 PR N oD B A DX ’ f%4?%8ﬁ : -’ ’ i
2 kRIS Hk 40 | L1 egd 10 - —
Bl 55 fr SR LIS PN oD f P L Bk B N
LIS o i 40 | L2|P T 10 —
Elalia) Eeit — | B# - — —
<| 2 i S 1 B BB A 0D f P 1 Xk — 4.0 6.3 —
RERLAS 0 Hhi 40 | L1 6. 9fb 9. 0%t 2.0t 2.0
Z| sk P SR L Bl P D B R i X m4ﬁf6j —
LERLS o i 40 | L1|4 5.3 8.6 —
P ERTTRHE O RSSO ED LT DS — | B g g
RERLAA 0D Hitg
1 REERE N o 2 A O —Fl 4900 8.1 —
2 hRELSt R — | B#g|F 8T 12 - -
s = SCREIA 40 | L1|F 88k 15 —| -
LRELLA D s
1 RERBHE N 0 B Al X i 4. 2% 760 —| —
2 _ERCEA Ot 40 | L2|F 7.3 11 - -
LAY Eeei — | BB#R — - - —
L| SFEET Bt — | B& -1 - - -
IO T T Eeei — | BB - - - -
LT A2 — | B - - - -
S £ R LIS D 12 P M DI — 4. 7. - —
ERCEASS D 40 | L1|P 7.3H 11 - -
THZKET it — | Ko [E LA L —
THER BSEE L - W]« fERe B OYF R o Fa il
1 RS o = A KO —%SJFSJ — —
2 EFRLSt oM — | Es#R | 8.3t 12 —

EFRLASR o iU




S AZ3045) i = X 6
i RCET A4 - )l HERGE
e R ks @ A o w4 [P PEEERTIBEITOGES
U e | ROERREN O B A R W P e I
2 kRIS Hk 40 | L1M7 1000 — —
TANRET E=ei — | BRMR [E YA e — -
T& ﬁ$ﬁ@k@%ﬁ%ﬁ@ﬁm6hfwéﬂﬁi%ﬁ%mﬁgm@ - -
EEREAA o ik
1 FREERBE N o B A Hh O it 5.3l 9.60 | —
2 kRLStOHE — | &P oogh 15 | —
T P S e B b o8 PR 0D JE Rt Xt —l 4500 6.3 —|  —
LERLS o i 40 | 1.1 |4 6.8 9. 0ff 2. Ol 2.0
G R S 1A B AR PN D JR X0 —ti 40 7. | —
ERLEASN D i 40 | Lz o1 0 —
PR H] st — | B — — — —
BT = — | B [EeHEEE - —
FHEAHT Ext — | B - - - -
EIREZES IR FE IR BLHIIR N D J= M X3 — 4.3%0 6.3  — —
ERELAS O SR 40 | L1[F 6.9 9. 08 2. Ot 2.0
(| AT Eee: — | B# - - - -
7= KM e IR BT P oD 2 L K35 —l 4300 6.3 —| —
LFELIS O HiH 40 | 11| 7.0f 9.0l 2. Ol 2.0
i R AR 5k — | B# -1 - - -
B AR b LS
1 RaEBW
(1) FEEH T Hgk N o B2 FH B K3k —id 4.7 8.3 — —
(2) LRSS OHI 40 | 1L2|% 8.8 14 — —
2 EEUS O
(1) FEEIR BRI o B2 A Hh X i — 4. 2% 8.0 — —
(2) kLIS 40 | L1fp 7R o | —
& H AT Eaeioy — | B -1 -

ﬁ%bhﬁirﬁthﬁg




S AZ3045) i = X 7H
i RCET A4 - )l HERGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
77| =l BGER
1 BEEREUIEL P o B A X —l 4.7 8.0 —| —
2 LERLIA o i 40 | L2k 8of 12 | -
_BFRLASN o HitkeR
1 RS M Py o B A X —Fto4oop 71 | —
2 EELISh o HiE 40 | LA oo o100 | —
K% Ees — | R |EEE ey | —
H BT Eaeir — | AR EEEE R - —
A T Eeei — | W B eEEEE -
iZEZ R S 1A B AR PN D JR X0 e T
LFRLLA o Hie 40 | 1.1|% 6.8 9. 0l 2. Ol 2. 0
b T& 5 SR B HIR PN oD i FH ML S —fit 4.5t 6.3 — -
EELIA O 40 L1$68E90ﬁ20ﬂ20
o PRI FMEHE Lo FSHIROES DTV A — | B R R — -
LRELLA D s
1 RGERY
(1) BEEEHREL A o B B X —|fdi 5. 606 9.4  — —
(2)  LRCLAS DM 40 | L2 9.8k 1680 —| —
2 LRELstoR
(1) FEEEHRBLHUR A o 2 T B X —idi 5. 1 8.5  — —
(2)  ERRCLASOHUER 40 | Li[p 87k 12 - -
T geicn — | B A s — -
T| SRET PR A5 B b gl Y oD JE FH e Xk —fidi 4.0/ 7.5 — —
LIS o i 40 | L1|doe.gdfr9eg | —
&| JBFF e R BT PN oD o P i DU —ht 4.4 6.3 —| —
RELLASN D i 40 | L1|% 6.9 9. 0% 2. Off 2.0
HAa=FhH et SR LA P 0D o P B XK —ti 4.5%0 6.3  —| —
LIS o HHE 40 | 1.1 |9 6.8 9. oﬁm 2. i 2. 0




S AZ3045) s ® K 8
i RCET A4 - )l HERGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% . [ I ™ ™
&| AR N — | B — - - -
Wil o2 4 M I PR 0D 2 P 3 DX —F 4.5 71— —
LIS o Hitd; 40 | Lt|dorofl o1 | —
72 AR Eeis — | B EeHEE R | —
- bR P 2 AR B 355 PR D JE Rt DX —|#t 4. 7[; 8.4 — —
EELIA 0 i 40 | Lafh o a0 —
g Fo S B PR oD F R L X —fti 4.5%0 6.3  —| —
_ERCEASN 0> itk 40 | L.1|# 6.8 9. 08l 2. ot 2.0
T & A A s — | BEHE | e HEE J:I:YEr - -
AR R LA
1 EE8BERUEIAB
(1) REEIR B 0 2 H Hi Kk —ft 5.3l 8.9  —| —
(2 kLSO 40 | L2 7.8 12— -
2 RIS MR
(1) JREEIRELIER A o & F Hi X —l 4. 8% 8.2f — —
(2)  ERESASSDHIEL 40 | L1 o74F o1~ —
EaL) B2 — | B# - - A -
A WLER
1 RRREHR N O 2 Al b —l 4. 800 8.4 —| —
2 _ERCEA DR 40 | L1|d s.8gF 15 — -
ERCEASR D i
1 BEIRBUBIER AN o 22 A DX —ﬂ42F78 -1 -
2 ERCEA s 40 | L1|P 7.4 11 - -
o o SR B P 0D o P L UK i 4. 7HE 8.5  —| —
LIS o s 40 | L1|F e g 190 | —
| B o S R B b 358 A oD J FH Xk —|f 4. 4% 6.3 — —
EEELIA o il 40 | 1.1 | 6.9/ 9.0l 2. O 2. 0
YPHET AR o BRI O B 53TV B HUE 40 -

1.1 Jﬁth@"%ﬂ:@ —




S AZ3045) i = X I
HXATE 4 - ¥ AEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| BFET EFCLAS o> HiUE
1 BEEREUIEL P o B A X —l 5.6 9.3 —| —
2 _LELLIS oM 40 | Li|fgTh 13 | —
i mEET kA - | B# - — — —
i) ke — | B - - A -
&Y R SR
1 R N o B A Hh I el 4.8 9.9 | —
2 RELEA o 40 | L2488k 15 — —
LFRLLA o> it
1 R R sk PN 0D SR X Js —t 4.l 8.2 —| —
2 hEEA o i 40 | L2 5T 90— —
N HeR o SR BT PN oD 2 P L RS —h 4. 48 6.9 | —
ERRLIA O it 40 | L1|F 7.6 12 — -
B R S TR IR PN oD 2 P B X B —l 4,300 6.3 —| —
EFRLIA O it 40 | L 1|# 6.8 9. 06k 2. Ot 2.0
5 EIET £ — | B - - - -
B B TR LI PN oD 2 T X —l 4,300 6.7  —| —
LRCEAS: oD Hsg 40 | L1[f 7.2 9.8 — —
TR WRGEF 1L« W1« SRR
1 BREEIREME P 0D B T i —d 5.5 9.4  —| —
2 EELA O HuR 40 1% 8 7F 15 - -
EFELA o> ik
1 BEEIR B P oD B M X I —ﬁ4JF8n - -
2 _LELIS oM 40 | L2 7oAl 1 | —
BRIEAET E4En — | B -1 - - -
IH EIESE AR EHE | o> FIRHIR D 7B ¥ 5 T D Hidg
1 B — | BRAR pE s e | —
2 AR i LS 40 | 1.1 |AaEE sy | —




S AZ3045) i = X 105
i RCET A4 - )l HERGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
VF TEAESFE RFLLASR > HiE 40 | L1[F 1 18— —
YRIT o2 4 M I PR 0D 2 P 3 DX —Ft 4. 16l 81— —
LIS o Hitd; 40 | L2 7ol o1 | —
SR P S 0 3 PN 0D P —t 45l 6.8 | —
EERLIA o Hitkek 40 | L.1|% 6.9 9. 0df 2. Ofkli 2. 0
AT o SR B P D Jo P B R —l 4.4 6.3 —| —
RERLAS 0 Hhi 40 | L1 6.8 9. 0ft 2.0t 2.0
| I EFHTHT — | B - - - -
LFRLLA o> it
1 R R sk PN 0D SR X Js —t 4.7l 80|~ —
2 hEEA o i 40 | L2 7.4E: 11 — —
R T st — | B — - — —
T RERT = — | B - - - -
- CEERT Ehf 8 TR ORI IR
1 BREERE M 0 B O fill 6. O 9.3
2 bRELSt o 40 | L2(F 9.8 16
RFRLAA D Hitks
1 BFEREHIRN O R A KR Gl 4. 850 8.0
2 EERLA O 40 | L1(F 7.0F 10
e =L = SR B P oD = T M X A —fidi 4.3 6.3  — —
EFRLIS O 40 | 1.1 |d 6.9fF 9. O 2. O 2. 0
b| FROLH Esin 40 | 11 4086 7.5 - —
AREPHT = A B N oD 2 P L DX —Jili 4. :K 6.3 —| -
LIS o i 40 | 11| 6. 9dr 9. ol 2. o 2.9
aE e R BT PN oD o P i DU A I
RELLASN D i 40 | L1|¥ 654 9.8 — -
A BEE L - B - AERIN O ROFEROER|] — | R |5 ) b - -
WGEE W - )1 - fREsR o A 50 | 1.1 |EcuEEEE | —




S AZ3045) i = X 11E
HXATE 4 - ¥ AEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
| HERT N — | B — - - -
RIE o2 4 M I PR 0D 2 P 3 DX —Ft 4.2 6.7 —| —
LELIA 0 HE 40 | Lt|dorgd 12 | —
il SR
1 BESEREUMLIEL P o R F X I —ft 4.7l 8.9 | —
2 LFELIA o i 40 | L2 8gf 15 | —
_EFEEAS o HitkaR
1 FRETRBUME o B A Hi X o4l 81 | —
2 LRELU o i 40 | L1 7aE 12 | —
o RiERW
1 FREEIRG R o B T 4. 8t 8. 6
2 LECBUt o HbR 40 | 11| 8.8F 15
ERELASN 0 HiU
1 Bl SaE AR El 40 | L2l o1~ -
2 L5 $RE AR OO H]
(1) REIRE IR o = A Hi i —t 3.9t 6.7 — —
(2)  EFELASOHI 40 | L1[h 7 o1~ —
2% BB
1 RRREHR N O 2 Al b —l 5. 500 9.3 —|  —
2 _ERCEA DR 40 | L1 oo 15 - -
ERCEASR D i
1 BEIRBUBIER AN o 22 A DX —t 4.7 800  —| —
2 ERCEA s 40 | L1|¥ 5.9 98 — -
Y| HERET £ — | B PEILEEE L | —
EFELSN P S 41 MO P oD P R I O —t 4.3 6.3 —|  —
_EEELIAN 0> itk 40 | L1|% 6.9 9. 0% 2. Off 2.0




